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 ת סופיותתשובו

 1.25א. פי  .1

 ק"מ 160ב. 

 ק"מ 120ג. 

 

𝑞  (1א.  .2 = 2 

 סדרה יורדת (2     
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 0.001701ב. 

 ג. לא ייתכן

 

 א. הוכחה .4

 ב. הוכחה

 2ג. 
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א.  .5
𝑅

𝑠𝑖𝑛𝛽𝑐𝑜𝑠𝛽
 

 26.565°ב. 

 3.2ג. 

 7ד. 

 

𝑥א.  .6 ≠ 𝑎, 𝑥 ≠ −𝑎 

0: עלייהב.  < 𝑥 < 𝑎  או𝑥 < −𝑎 :ירידה ,−𝑎 < 𝑥 < 𝑥 או 0 > 𝑎 

𝑓(𝑥)ג.  =
1

(𝑥2−𝑎2)2
 

 III: גרף I  ,h(x)רף ג: II  ,g(x): גרף f(x)ד. 

𝑎ה.  = 5 
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א.  .7
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 ב. פונקציה זוגית

𝑎ג.  = 1 

,𝜋−)ד.  ,𝜋) מינימום, (0,6)מינימום,  (4  מינימום (4

 ה. 

 

 

 

 

 

𝑘ו.  = 5 

 

𝑥  (1א.  .8 ≤ 8 

0: חיובית  (2      < 𝑥 < 𝑥,  שלילית:  8 < 0 

 ב.

 

 

 

 

 

 

  𝐴(4,8)ג. 


